

Pay Estimate Created Date: September 2, 2020

Progress Estil	mate Number	Contract ID Prime Contractor	191115-C01 Ideker, Inc.	Pay Period Start Pay Period End	August 16, 2020 September 1, 20	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,637,869.68 \$0.00 \$1,637,869.68
Approval Date							By User
September 3, 2020		(Generated and	Approved (and sho	uld be considered	Draft) at the Project Office Level by	hessec2
September 3, 2020		Revie	ewed and Appr	oved (and should be	e considered Draft	at the Resident Engineer Level by	ilesb1
September 3, 2020				Reviewed and App	roved at the Centra	al Office Controllers Office Level by	greggd1
Original Comp	letion Date	Current Comple	tion Date	Actual Comp	letion Date	% of Current Contract Amount Complete	
Miller	4 0000	M	0000			40.400/	

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2020	November 1, 2020		49.13%

Date Description	Original Completion Date	Current Completion Date
Acceptance Date		
Awarded Date	December 4, 2019	December 4, 2019
Letting Date	November 15, 2019	November 15, 2019
Notice to Proceed Date	January 6, 2020	January 6, 2020
Open to Traffic Date		
Work Began Date		

Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
J3P3085C Milestone - Calendar Time	September 29, 2020	September 29, 2020	27	
J3P3085D Milestone - Calendar Time	September 13, 2020	September 13, 2020	11	
J3P3143 Milestone - Calendar Time	August 9, 2020	August 9, 2020	-24	

Milestones

Contract Total Pay For Estimate No. 5

		This Estimate	Previous	To Date	
191115-C01					
	Total Posted Items Pay	\$450,505.73	\$354,241.27	\$804,747.00	
	Gross Item Adjustments	(\$8,094.49)	(\$4,406.82)	(\$12,501.31)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$349,834.45	\$792,245.69	
		6440 444 04			

Contract Total Payable This Estimate: \$442,411.24

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3P3085C	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$20,869.000	0.75	\$15,651.75
	0020	2031000	CLASS A EXCAVATION	CUYD	\$26.000	1,008	\$26,208.00
	0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$15.200	2,217	\$33,698.40
	0060	4019905	MISC.OPTIONAL PAVEMENT	SQYD	\$30.930	2,217	\$68,571.81
	0100	6161005	CONSTRUCTION SIGNS	SQFT	\$7.000	500	\$3,500.00
	0110	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$55.000	4	\$220.00
	0120	6161009	FLAG ASSEMBLY	EA	\$35.000	4	\$140.00
	0140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$1,500.000	4	\$6,000.00
	0170	6191000	PAVEMENT EDGE TREATMENT	LF	\$5.150	1,100	\$5,665.00
	0230	6208063	TEMPORARY PAVEMENT MARKING	EA	\$0.300	5,080	\$1,524.00
Project J3F	2 <mark>3085C - 1</mark>	Γotal					\$161,178.96
J3P3085D	0490	2022010	REMOVAL OF IMPROVEMENTS	LS	\$20,500.000	0.25	\$5,125.00
	0500	2031000	CLASS A EXCAVATION	CUYD	\$27.000	818	\$22,086.00

Page 1 of 26 Revision 4/1/2020



Pay Estimate Created Date: September 2, 2020

Progress Estimate Number 5 Contract ID Prime Contra		Pay Period Start August 16, 2020 September 1, 20	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,637,869.68 \$0.00 \$1,637,869.68
---	--	--	--	--

							, ,
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3P3085D	0540	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$16.000	3,548	\$56,768.00
	0550	4019905	MISC.OPTIONAL PAVEMENT	SQYD	Installed Qty \$16.000 3,548 \$33.250 2,056.6 \$86.890 859.6 \$3.000 1,260 \$5.150 1,600 \$250.000 4 \$0.300 3,534 \$0.300 4,710 \$3.000 148 \$2.910 4,877 \$9.630 1,076 \$1,200.000 0.6 \$17.250 57 \$54.000 15 \$21.000 69.18 \$9,000.000 0.6 \$250.000 4 \$0.500 3,041 \$0.500 3,518 \$3.000 117 \$22.000 2 \$2,800.000 2	\$68,381.95	
	0560	4030001	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP095C MIX)	TONS	\$86.890	859.6	\$74,690.64
	0570	4071006	TACK COAT - POLYMER MODIFIED	GAL	\$3.000	1,260	\$3,780.00
	0670	6191000	PAVEMENT EDGE TREATMENT	LF	\$5.150	1,600	\$8,240.00
	0680	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$250.000	4	\$1,000.00
	0690	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.300	3,534	\$1,060.20
	0700	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.300	4,710	\$1,413.00
	0710	6206124A	$24\ \mbox{IN.}$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$3.000	12	\$36.00
	0720	6206125A	$24\ \mbox{IN.}$ YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$3.000	148	\$444.00
	0750	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS) $$	SQYD	\$2.910	4,877	\$14,192.07
	0760	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$9.630	1,076	\$10,361.88
	0970	9031010	CONCRETE FOOTINGS, EMBEDDED	CUYD	\$1,200.000	0.6	\$720.00
	0980	9031280	2.5 IN. PSST POST - 12 GA.	LF	\$17.250	57	\$983.25
	0985	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	LF	\$54.000	15	\$810.00
	0987	9035004A	SH-FLAT SHEET	SQFT	\$21.000	69.18	\$1,452.78
Project J3I	23085D - 1	Γotal					\$271,544.77
J3P3143	1000	2022010	REMOVAL OF IMPROVEMENTS	LS	\$9,000.000	0.6	\$5,400.00
	1180	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$250.000	4	\$1,000.00
	1190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.500	3,041	\$1,520.50
	1200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.500	3,518	\$1,759.00
	1210	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$3.000	117	\$351.00
	1330	6061060	MGS GUARDRAIL	LF	\$22.000	25	\$550.00
	1340	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$2,800.000	2	\$5,600.00
	1350	9031010	CONCRETE FOOTINGS, EMBEDDED	CUYD	\$1,200.000	0.1	\$120.00
	1360	9031270A	2 IN. PSST POST - 12 GA.	LF	\$16.400	20	\$328.00
	1370	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	LF	\$35.000	4.5	\$157.50
	1380	9031280	2.5 IN. PSST POST - 12 GA.	LF	\$18.000	12	\$216.00
	1390	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	LF	\$54.000	3	\$162.00
	1400	9035069A	SHF-FLAT SHEET FLUORESCENT	SQFT	\$24.000	25.75	\$618.00
Project J3I	23143 - To	otal					\$17,782.00
Overall - T	otal						\$450,505.73

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 4/1/2020 Page 2 of 26



Pay Estimate Created Date: September 2, 2020

Progress Estimate Number
5
Contract ID 191115-C01 Pay Period Start August 16, 2020 Original Contract Amount September 1, 2020 Original Contract Amount September 1, 2020 Original Contract Amount September 1, 2020 Original Contract Amount Current Contract Amount S1,637,869.68

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3P3085C	0020	CLASS A EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	560	(\$0.18)	(\$98.56)
	0020	CLASS A EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	448	(\$0.18)	(\$78.85)
	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,217	(\$0.20)	(\$448.72)
	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-2,217	\$15.20	(\$33,698.40)
	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user hessec2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	2,217	\$15.20	\$33,698.40
	0100	CONSTRUCTION SIGNS	Material			-500	\$7.00	(\$3,500.00)
	0100	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) due to user hessec2 overridding Payment Estimate Exception 13 on the current Payment Estimate.	500	\$7.00	\$3,500.00
	0110	ADVANCED WARNING RAIL SYSTEM	Material			-4	\$55.00	(\$220.00)
	0110	ADVANCED WARNING RAIL SYSTEM	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0008) due to user hessec2 overridding Payment Estimate Exception 14 on the current Payment Estimate.	4	\$55.00	\$220.00
	0120	FLAG ASSEMBLY	Material			-4	\$35.00	(\$140.00)
	0120	FLAG ASSEMBLY	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0009) due to user hessec2 overridding Payment Estimate Exception 15 on the current Payment Estimate.	4	\$35.00	\$140.00
	0140	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material			-4	\$1,500.00	(\$6,000.00)
	0140	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0010) due to user hessec2 overridding Payment Estimate Exception 16 on the current Payment Estimate.	4	\$1,500.00	\$6,000.00
	0170	PAVEMENT EDGE TREATMENT	Material			-1,100	\$5.15	(\$5,665.00)
	0170	PAVEMENT EDGE TREATMENT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0011) due to user hessec2 overridding Payment Estimate Exception 17 on the current Payment Estimate.	1,100	\$5.15	\$5,665.00
J3P3085D	0500	CLASS A EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	700	(\$0.18)	(\$123.20)
	0500	CLASS A EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	118	(\$0.18)	(\$20.77)
	0500	CLASS A EXCAVATION	Other Item Adjustment	Fuel Price	This is the adjustment that was taken off on Estimate 004.			(\$88.00)
					Fuel Adjustment			

Revision 4/1/2020 Page 3 of 26



Pay Estimate Created Date: September 2, 2020

Progress Estimate Number
5
Contract ID 191115-C01 Pay Period Start August 16, 2020 Original Contract Amount September 1, 2020 Original Contract Amount Current Contract Amount Current Contract Amount S1,637,869.68

Adjustment amount	Line Item Adjustment Unit Price	Adjustment Quantity	Comments	Other Item Adjustment Type	Adjustment Type	Item Description	Line No.	Project Number
			Line No. 0500 Installed Quantity =					3P3085D
			500 SqYd * 0.2 * -0.88 = \$-88.00					
(\$1,090.00	\$25.00	-43.6			Material	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	0530	
\$1,090.00	\$25.00	43.6	This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0025) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment Estimate.		Material	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	0530	
(\$5.76			This is the adjustment that was taken off on Estimate 004. Fuel Adjustment Line No. 0530 Installed Quantity = 43.6 SqYd * .15 * -0.88 = \$-5.76	Fuel Price	Other Item Adjustment	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	0530	
(\$416.26	(\$0.20)	2,056.6	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		Price	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	0540	
(\$301.86	(\$0.20)	1,491.4	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		Price	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	0540	
(\$56,768.00	\$16.00	-3,548			Material	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	0540	
\$56,768.00	\$16.00	3,548	This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0028) due to user hessec2 overridding Payment Estimate Exception 4 on the current Payment Estimate.		Material	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	0540	
(\$301.86			This is the adjustment that was taken off on Estimate 004. Fuel Adjustment Line No. 0540 Installed Quantity = 1491.40 SqYd * 0.23 * *0.88 = \$-301.86	Fuel Price	Other Item Adjustment	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	0540	
\$301.86			This is to remove the fuel adjustment for Line No. 0540 that was paid on this estimate, but was installed during Estimate period 004.	Fuel Price	Other Item Adjustment	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	0540	
(\$117,971.00	\$33.25	-3,548			Material	MISC.	0550	
\$117,971.00	\$33.25	3,548	This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0029) due to user hessec2 overridding Payment Estimate Exception 6 on the current Payment Estimate.		Material	MISC.	0550	
(\$2,511.41	(\$2.92)	859.6	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		Price	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP095C MIX)	0560	
(\$3,780.00	\$3.00	-1,260			Material	TACK COAT - POLYMER MODIFIED	0570	
\$3,780.00	\$3.00	1,260	This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0031) due to user hessec2 overridding Payment Estimate Exception 7 on the current Payment Estimate.		Material	TACK COAT - POLYMER MODIFIED	0570	
(\$3,989.40	\$183.00	-21.8			Material	6 IN. CONCRETE MEDIAN STRIP	0580	
\$3,989.40	\$183.00	21.8	This adjustment offsets the original system- generated Overrun Payment Estimate Item		Material	6 IN. CONCRETE MEDIAN STRIP	0580	

Revision 4/1/2020 Page 4 of 26



Pay Estimate Created Date: September 2, 2020

Progress Estimate Number
5
Contract ID 191115-C01 Pay Period Start August 16, 2020 September 1, 2020 September 1, 2020 Original Contract Amount September 1, 2020 Net Change Order Amount Current Contract Amount September 1, 2020 September 1, 2020 Original Contract Amount September 2, 2020 Original Contract Amount September 2,

ject	Line	Item Description	Adjustment	Other Item	Comments	Adjustment	Line Item	Adjustment
nber	No.	item Description	Type	Adjustment Type	Comments	Quantity	Adjustment Unit Price	amount
085D					Adjustment (0032) due to user hessec2 overridding Payment Estimate Exception 9 on the current Payment Estimate.			
	0590	CONSTRUCTION SIGNS	Material			-457	\$7.00	(\$3,199.00
	0590	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0033) due to user hessec2 overridding Payment Estimate Exception 12 on the current Payment Estimate.	457	\$7.00	\$3,199.00
	0670	PAVEMENT EDGE TREATMENT	Material			-1,600	\$5.15	(\$8,240.00
	0670	PAVEMENT EDGE TREATMENT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0034) due to user hessec2 overridding Payment Estimate Exception 18 on the current Payment Estimate.	1,600	\$5.15	\$8,240.00
	0680	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-4	\$250.00	(\$1,000.00
	0680	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0035) due to user hessec2 overridding Payment Estimate Exception 19 on the current Payment Estimate.	4	\$250.00	\$1,000.00
	0690	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-3,534	\$0.30	(\$1,060.20
	0690	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0036) due to user hessec2 overridding Payment Estimate Exception 23 on the current Payment Estimate.	3,534	\$0.30	\$1,060.20
	0700	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-4,710	\$0.30	(\$1,413.00
	0700	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0037) due to user hessec2 overridding Payment Estimate Exception 25 on the current Payment Estimate.	4,710	\$0.30	\$1,413.00
	0710	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-12	\$3.00	(\$36.00
	0710	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0038) due to user hessec2 overridding Payment Estimate Exception 29 on the current Payment Estimate.	12	\$3.00	\$36.00
	0720	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-148	\$3.00	(\$444.00
	0720	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0039) due to user hessec2 overridding Payment Estimate Exception 35 on the current Payment Estimate.	148	\$3.00	\$444.00

Revision 4/1/2020 Page 5 of 26



Pay Estimate Created Date: September 2, 2020

Progress Estimate Number
5
Contract ID 191115-C01 Pay Period Start August 16, 2020 Original Contract Amount September 1, 2020 Original Contract Amount September 1, 2020 Original Contract Amount September 1, 2020 Original Contract Amount Current Contract Amount S1,637,869.68

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3P3085D	0760	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun			-387	\$9.63	(\$3,726.81)
	0970	CONCRETE FOOTINGS, EMBEDDED	Material			-0.6	\$1,200.00	(\$720.00)
	0970	CONCRETE FOOTINGS, EMBEDDED	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0041) due to user hessec2 overridding Payment Estimate Exception 40 on the current Payment Estimate.	0.6	\$1,200.00	\$720.00
	0980	2.5 IN. PSST POST - 12 GA.	Material			-57	\$17.25	(\$983.25)
	0980	2.5 IN. PSST POST - 12 GA.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0042) due to user hessec2 overridding Payment Estimate Exception 44 on the current Payment Estimate.	57	\$17.25	\$983.25
	0985	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material			-15	\$54.00	(\$810.00)
	0985	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0044) due to user hessec2 overridding Payment Estimate Exception 45 on the current Payment Estimate.	15	\$54.00	\$810.00
	0987	SH-FLAT SHEET	Material			-69.18	\$21.00	(\$1,452.78)
	0987	SH-FLAT SHEET	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0043) due to user hessec2 overridding Payment Estimate Exception 47 on the current Payment Estimate.	69.18	\$21.00	\$1,452.78
J3P3143	1050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-2,943	\$16.00	(\$47,088.00)
	1050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0012) due to user hessec2 overridding Payment Estimate Exception 5 on the current Payment Estimate.	2,943	\$16.00	\$47,088.00
	1060	MISC.	Other Item Adjustment	Fuel Price	This is the adjustment that was taken off on Estimate 004. Fuel Adjustment Line No. 1060 Installed Quantity = 1355.2 SqYd * 0.23 * -0.88 = \$-274.29			(\$274.29)
	1180	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-4	\$250.00	(\$1,000.00)
	1180	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0013) due to user hessec2 overridding Payment Estimate Exception 20 on the current Payment Estimate.	4	\$250.00	\$1,000.00
	1190	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-3,041	\$0.50	(\$1,520.50)
	1190	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0014) due to user hessec2 overridding Payment Estimate Exception 21 on the current Payment Estimate.	3,041	\$0.50	\$1,520.50

Revision 4/1/2020 Page 6 of 26



Pay Estimate Created Date: September 2, 2020

Progress Estimate Number
5
Contract ID 191115-C01 Pay Period Start August 16, 2020 Original Contract Amount September 1, 2020 Original Contract Amount Current Contract Amount Current Contract Amount S1,637,869.68

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3P3143	1200	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-3,518	\$0.50	(\$1,759.00)
	1200	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0015) due to user hessec2 overridding Payment Estimate Exception 27 on the current Payment Estimate.	3,518	\$0.50	\$1,759.00
	1210	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-117	\$3.00	(\$351.00)
	1210	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0016) due to user hessec2 overridding Payment Estimate Exception 32 on the current Payment Estimate.	117	\$3.00	\$351.00
	1320	SILT FENCE	Material			-185	\$4.00	(\$740.00)
	1320	SILT FENCE	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0017) due to user hessec2 overridding Payment Estimate Exception 38 on the current Payment Estimate.	185	\$4.00	\$740.00
	1330	MGS GUARDRAIL	Material			-25	\$22.00	(\$550.00)
	1330	MGS GUARDRAIL	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0018) due to user hessec2 overridding Payment Estimate Exception 8 on the current Payment Estimate.	25	\$22.00	\$550.00
	1350	CONCRETE FOOTINGS, EMBEDDED	Material			-0.1	\$1,200.00	(\$120.00)
	1350	CONCRETE FOOTINGS, EMBEDDED	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0019) due to user hessec2 overridding Payment Estimate Exception 39 on the current Payment Estimate.	0.1	\$1,200.00	\$120.00
	1360	2 IN. PSST POST - 12 GA.	Material			-20	\$16.40	(\$328.00)
	1360	2 IN. PSST POST - 12 GA.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0020) due to user hessec2 overridding Payment Estimate Exception 41 on the current Payment Estimate.	20	\$16.40	\$328.00
	1370	POST ANCHOR FOR 2 IN. PSST - 12 GA.	Material			-4.5	\$35.00	(\$157.50)
	1370	POST ANCHOR FOR 2 IN. PSST - 12 GA.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0021) due to user hessec2 overridding Payment Estimate Exception 42 on the current Payment Estimate.	4.5	\$35.00	\$157.50
	1380	2.5 IN. PSST POST - 12 GA.	Material			-12	\$18.00	(\$216.00)
	1380	2.5 IN. PSST POST - 12 GA.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0022) due to user hessec2 overridding Payment Estimate Exception 43 on the current Payment Estimate.	12	\$18.00	\$216.00
	1390	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material			-3	\$54.00	(\$162.00)
	1390	POST ANCHOR FOR 2.5 IN.	Material		This adjustment offsets the original system-	3	\$54.00	\$162.00

Revision 4/1/2020 Page 7 of 26



Pay Estimate Created Date: September 2, 2020

Progre		mate Number 5	Contract IE Prime Con			ay Period Start August 16, 2020 ay Period End September 1, 2020	Net Chan	Contract Am ige Order Ai Contract Am	mount \$0	,637,869.68 .00 ,637,869.68
Project Number	Line No.	Item Descri	ption	Adjustment Type	Other Item Adjustment Type	Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3P3143		Р	SST - 7 GA.			generated Overrun Payment Estin Adjustment (0023) due to user overridding Payment Estimate Exce on the current Payment I	hessec2 eption 46			
	1400		LAT SHEET DRESCENT	Material				-25.75	\$24.00	(\$618.00)
	1400		LAT SHEET DRESCENT	Material		This adjustment offsets the origina generated Overrun Payment Estin Adjustment (0024) due to user overridding Payment Estimate Exceon the current Payment I	nate Item hessec2 eption 48	25.75	\$24.00	\$618.00
Total										(\$8,094.49)

Revision 4/1/2020 Page 8 of 26



					(Contract Project Informatio	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J3P3085C	FAS S301(85)	Intersection improvements	210	RAY	at Route O and Route Z		
J3P3085D	FAS S301(86)	Intersection improvements	10, 210	RAY	at Route 10 and Route 2	210	
J3P3143	FAF 10-1(77)	Intersection improvements	210	RAY	at Henkel Dr. east of Ro	ute T	
Totals by Jo	b Numbers	6					
J3P3085C	Gross I		ts Gross Ite	em Pay	This Estimate \$161,178.96 (\$626.13) \$160,552.83	Previous \$10,421.00 \$0.00 \$10,421.00	To Date \$171,599.96 (\$626.13) \$170,973.83
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00
J3P3085D		Item Pay tem Adjustment	ts Gross Ite	em Pay	This Estimate \$271,544.77 (\$7,194.07) \$264,350.70	Previous \$86,742.45 \$0.00 \$86,742.45	To Date \$358,287.22 (\$7,194.07) \$351,093.15
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00
J3P3143		Item Pay tem Adjustment	ts <mark>Gross Ite</mark>	em Pay	This Estimate \$17,782.00 (\$274.29) \$17,507.71	Previous \$257,077.82 (\$4,406.82) \$252,671.00	To Date \$274,859.82 (\$4,681.11) \$270,178.71
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 4/1/2020 Page 9 of 26



Exceptions (Discrepancies) This Estimate Period

Experience (Discoprince) Experience (Discop	Exceptions (Discrepancies) This Estimate Period			
Namber 0500, Mederial 951 03050506, Mederial 105711ABLD.15 a. regulations. Februaria Enception Type Insulfacent Nationals Proper Jamp 1051 050 05000000000000000000000000000	Exceptions / Discrepencies	Explanation		Status
Names (2000), Material Set 39400000, Material (1007 146, LD 15 - Age State) Type 1 & 9 Editinate Experient Type Evaluation Materials (Project Age Object), September 1, 19 Editinate Experient Type Evaluation Materials (Project Age Object), Project International Conference Access (2004) 11(39) 1	Number 0530, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5	Tests passed it needs to be entered in the system.	hessec2	Overridden
Number 1005, Material Sed 30040096, Waterial 2004STISSOP - Compacted Play 1 & 5 face. Acceptance Alantin Centre 2004STISSOP in revalidants Editimate Exception Type: Insufficient Materials Project J 2004SD, Project Item Line Linestein Collegiant (Acceptance Asian Centre (1007TABLD.) This insufficient. Editimate Exception Type: Insufficient Materials (1007TABLD.) This insufficient. Tests passed it needs to be entered in the system. Needs (1007TABLD.) This insufficient. Tests passed it needs to be entered in the system. Needs (2005) Adeletia Sed (1007GDS) Materials (1007TABLD.) This insufficient. Tests passed it needs to be entered in the system. Needs (2005) Adeletia Sed (1007GDS) Materials (1007TABLD.) This insufficient. Tests passed it needs to be entered in the system. Needs (2005) Adeletia Sed (1007GDS) Materials (1007TABLD.) This insufficient. Tests passed it needs to be entered in the system. Needs (2007TABLD) Adeletia Sed (1007GS) Materials (1007TABLD) This insufficient. Tests passed it needs to be entered in AMP. Needs (2007TABLD) Adeletia Sed (1007GS) Materials (1007TABLD) This insufficient. Editimate Exception Type: Insufficient Materials (1007GS) This insufficient. Editimate Exception Type: Insufficient Materia	Number 0050, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5	Tests passed it needs to be entered in the system.	hessec2	Overridden
Number 6050, Malerial Ses 5010-50566, Malerial 10071-ABLD.T.5 - Ago Base Tipe 1 & S Interestret Colonian Acceptance Action Center 10071-ABLD.T.5 is insufficient. Estimate Exception Type: Insufficient Malerials: Project 2170-1006, Project Item Line Line Line Control Programs (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 is insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New York (1971-ABLD.T.5 insufficient). Estimate Exception Type: Insufficient Malerials: Project 2170-1006, New Yor	Number 0050, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base,	Tests passed it needs to be entered in the system.	hessec2	Overridden
Number 1050, Material Set 34040000, Material 1007TABLD. To - Agg Base Type 1 is 5 Interestence/Committed Acceptance Action Content 1007TABLD. To - Bendificiant 1 Estimate Exception Type Interflicted Materials Project Ja290850, Item 4101900, Project Item Line Acceptance Action Generic 1008TACCASE. As issufficient. Estimate Exception Type Interflicted Materials 10750A. Set 107000, Project Item Line Acceptance Action Generic Agentification is insufficient. Estimate Exception Type Interflicted Materials 10750A. Set 10700, Project Item Line Number 1075, Materials 544 0700008, Material 10150A. Set 1070. Estimate Exception Type Interflicted Material 10750A. Set 10700, Project Item Line Number 1075, Materials 544 0700008, Material 10150ACREACAT2 - State Beam for Class A Type 2 Certs are received needs to be entered in AWP. Interest Deception Type Interflicted Material 10750ACREACAT2 - State Beam for Class A Type 2 Certs are received needs to be entered in AWP. Interest Deception Type Interflicted Materials Project Ja2703ASD, Ibm 0805000, Project Item Line Number 1075, Materials 544 06000000, Acceptance Action Generic 1008TACCATS. As issufficient. Estimate Exception Type Interflicted Materials Project Ja2703ASD, Ibm 0805000, Project Item Line Number 1075, Materials 544 060000000, Acceptance Action Generic 1008TACCATS. As issufficient. Estimate Exception Type Interflicted Materials Project Ja2703ASD, Ibm 08050000, Project Item Line Number 1075, Materials 544 06000000000000000000000000000000000	Number 0540, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5	Tests passed it needs to be entered in the system.	hessec2	Overridden
Number 0580, Material Seut 401909596, Material Sp059650, Inc. A Installation Acceptance Action Generic 1005FACCNIS. As installation and Acceptance Action Generic 1005FACCNIS. As installation and Acceptance Action Generic 1005FACCNIS. As installation and Acceptance Action Generic Agricultural Seut 401700596, Psiged Illem Line Number 1007, Material Seut 40170596, Psiged Illem Line Number 1007, Material Seut 40170596, Psiged Illem Line Number 1007, Material Seut 401705976, Psiged Illem Line Number 1008, Material Seut 50170597, Psiged Illem Line Number 1008, Material Seut 501707059, Psiged Illem Line Number 100707, Psiged I	Number 1050, Material Set 304050696, Material 1007T1ABLD. T5 - Agg Base Type 1 & 5	Tests passed it needs to be entered in the system.	hessec2	Overridden
Number 0750, Material Set 407100986, Melorial 01015EASS1VH - Emulation Asphali-Trackless Tack, Acceptance Action Generic Aspirations in smallform. Estimate Exception Type: Insufficient Materials: Project, 19794143, Item 0001009, Project Item Line Number 1030, Material 100067874727 - Steet Beam for Class A Type 2 Guard Rini, Acceptance Action Generic 1040/CHSRACAT2 is insufficient. Estimate Exception Type: Insufficient Materials: Project, 19798800, Intern 0803008, Project Item Line Number 0580, Materials 1000678. Acceptance Action Generic 1040/CHSRACAT2 is insufficient. Estimate Exception Type: Insufficient Materials: Project, 19798800, Intern 0803008, Project Item Line Number 0580, Material 1050/CHSRACAT2 is insufficient. Estimate Exception Type: Insufficient Materials: Project, 1979880, Intern 0803008, Project Item Line Number 0580, Material 1050/CHSRACAT2 is insufficient. Estimate Exception Type: Insufficient Materials: Project, 1979880, Intern 0803008, Project Item Line Number 0580, Material 1050/CHSRACAT2 in the Second Control of	Number 0550, Material Set 401990596, Material 1005FACCNSCA - Natural Sand for Conc Class A,	Tests passed it needs to be entered in the system.	hessec2	Overridden
Number 1330, Material Set 860 160068, Material 10 100GRSRAT2 is immificient. Estimate Exception Type: Insufficient Materials: Project J3930350, liem 6003006, Project Item Line Number 0580, Material Set 860 300006, Material 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio: 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio: 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio: 1005FACCNS. CA: Natural Sand for Conc Class A. Acceptance Action Generio: 1005CDMLD:	Number 0570, Material Set 407100696, Material 1015EASS1VH - Emulsified Asphalt - Trackless Tack,	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 0580, Material Set 0698000696, Material 1056FACCNS, CA - Natural Sand for Conc Class A, Acceptance Action Genero (1056FACNS, CA is Insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085D, Item 0898006, Project Item Line Number 0580, Material Set 089800966, Material 1055CMMLD - Masonny Grade D LS/IDO, Acceptance Action Generic (1056CMLD Insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085D, Item 0898006, Project Item Line Number 0580, Material Set 089800966, Material 1055CMMLDST1D is insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085D, Item 0898006, Project Item Line Number 0580, Material Set 089800966, Material 1055CMMLDST1D is Insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085C, Item 05190067, Material 0951TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 055TMTC is Insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085C, Item 05190067, Project Item Line Number 0100, Material Set 06100566, Material 0951TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is Insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085C, Item 0519008, Project Item Line Number 0120, Material Set 06100968, Material 0951TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is Insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085C, Item 05190089, Project Item Line Number 0120, Material Set 06100968, Material 0951TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is Insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085C, Item 05190089, Material 0951TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is Insufficient. Elitimate Exception Type: Insufficient Materials: Project J879085C, Item 05190089, Material 0951TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is Insufficient.	Number 1330, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 6980, Material Set 608309686, Material 1095CDCMLID : Masonry Grade D LS/DO, Acceptance Action Generic 0105CDCMLD is insufficient. Estimate Exception Type insufficient Materials: Project J393085D, Item 6083006, Project Item Line Number 0580, Material 105CSMMLDST10 - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 105SCMMLDST10 is insufficient. Estimate Exception Type insufficient Materials: Project J393085D, Item 6161005, Project Item Line Number 0790, Material Set 616100586, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is insufficient. Estimate Exception Type insufficient Materials: Project J393085D, Item 6161005, Project Item Line Number 0100, Material Set 616100586, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is insufficient. Estimate Exception Type insufficient Materials: Project J393085C, Item 6161008, Project Item Line Number 0100, Material Set 616100586, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J393085C, Item 6161008, Project Item Line Number 0120, Materials Set 016100986, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0615TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J393085C, Item 6161008, Project Item Line Number 0120, Materials Set 01610098A, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J393085C, Item 6161008, Project Item Line Number 0120, Material Set 01610098A, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J393085C, Item 6191000, Project Item Line Number 0120, Material Set 016100086, Material 0619ETT - Material for Pavement Edge Treatment, Acceptance Actio	Number 0580, Material Set 608300696, Material 1005FACCNSCA - Natural Sand for Conc Class A,	Tests passed it needs to be entered in the system.	hessec2	Overridden
Number 0590, Material Set 608300896, Material 1055CMMLDST10 is insufficient. Estimate Exception Type: Insufficient Materials: Project J3973085C, Item 616100S, Project Item Line Number 0500, Material Set 61600596, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0516TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3973085C, Item 616100S, Project Item Line Number 0100, Material Set 616100596, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3973085C, Item 6161008, Project Item Line Number 0110, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3973085C, Item 6161008, Project Item Line Number 0110, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3973085C, Item 61610098, Project Item Line Number 0120, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3973085C, Item 6161098A, Project Item Line Number 0140, Material Set 6161089A, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3973085C, Item 61910000, Project Item Line Number 0140, Material Set 016100066, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3973085D, Item 61910000, Project Item Line Number 0170, Material Set 016100066, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0164PMFPWWWH-XX insufficient. Es	Number 0580, Material Set 608300696, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance	Materials needs to remove test from the sample checklist.	hessec2	Overridden
Number 0590, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6161005, Project Item Line Number 0100, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6161008, Project Item Line Number 0110, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6161009, Project Item Line Number 0120, Material Set 616100996, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 61610089, Project Item Line Number 0120, Material Set 616100996, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 61910096, Project Item Line Number 0140, Material Set 619100096, Material 0619ETT - Material for Pavement Edge Treatment, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6191000, Project Item Line Number 0707, Material Set 619100096, Material 0619ETT - Material for Pavement Edge Treatment, Acceptance Action Generic 0619ETT is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6191000, Project Item Line Number 0707, Material Set 619100096, Material 0619ETT - Material for Pavement Edge Treatment, Acceptance Action Generic 0619ETT is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3045D, Item 6191000, Project Item Line Number 0707, Material Set 61000096, Material Set 61000096, Material Set 6100009796, Mate	Number 0580, Material Set 608300696, Material 1055CMMLDST1D - Clear Pavement-Bridge	Materials needs to remove test from the sample checklist.	hessec2	Overridden
Number 0100, Material Set 616100596, Material of 616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0516TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project JSP3085C, Item 6161008, Project Item Line Number 0110, Material Set 616100886, Material 0516TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0516TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project JSP3085C, Item 6161009, Project Item Line Number 0120, Material Set 616100986, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0516TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project JSP3085C, Item 6161098A, Project Item Line Number 0140, Material Set 61610098A, Baterial 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project JSP3085C, Item 6191000, Project Item Line Number 0170, Material Set 61910098, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project JSP3085C, Item 6191000, Project Item Line Number 0170, Material Set 619100098, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project JSP3085D, Item 6191000, Project Item Line Number 0170, Material Set 619100098, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project JSP3085D, Item 62000219, Project Item Line Number 01709, Material Set 620002198, Material 1048PMPFWHXX - Prof Mr. Tape Direct Indicat or Stape WH, Acceptance Action Generic 044PMPFWHXX - Prof Mr. Tape Direct Indicat or Shape WH, Acceptance Action Generic 044PMPFWHXX - Prof Mr. Tape Direct Indicat or Shape WH, Acceptance Action Generic 1048PMPFWHXX - Prof Mr. Tape Direct Ind	Number 0590, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices,	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 0110, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6161009, Project Item Line Number 0120, Material Set 616100996, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6161098A, Project Item Line Number 0140, Material Set 6161098A9, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6191000, Project Item Line Number 0170, Material Set 619100096, Material 0619FET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6191000, Project Item Line Number 0170, Material Set 619100096, Material 0619FET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6200021, Project Item Line Number 0170, Material Set 61000096, Material 0619FET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6200021, Project Item Line Number 0170, Material Set 61000096, Material 0619FET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6200021, Project Item Line Number 0170, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indicat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6200021, Project Item Line Number 1180, Material Set 620000296, Material 1048PMFFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 620000C, Project Item Line Number 1190, Material Set 620000096, Material 1048PMFFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 620000C, Project Item Line Number 1190, Material S	Number 0100, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices,	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 0120, Material Set 616100996, Material 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6161098A, Project Item Line Number 0140, Material Set 6161098A96, Material 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6191000, Project Item Line Number 0170, Material Set 6161098A96, Material 0619PET - Material Or Perent Materials: Project J3P3085C, Item 6191000, Project Item Line Number 0170, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6191000, Project Item Line Number 0670, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6191000, Project Item Line Number 0670, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6200021, Project Item Line Number 0680, Material Set 620002196, Material 1049PMFPWHXX: Pref Mrk Tape Direct Indoct or Shape WH, Acceptance Action Generic 1048PMFPWHXX: Insufficient Materials: Project J3P3143, Item 6200021, Project Item Line Number 1180, Material Set 620002196, Material 1049PMFPWHXX: Pref Mrk Tape Direct Indoct or Shape WH, Acceptance Action Generic 1048PMFPWHXX: insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1049PMRFWHXX: insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1048PMRFWHXX: insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 0	Number 0110, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices,	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 0140, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085C, Item 6191000, Project Item Line Number 0170, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6191000, Project Item Line Number 0670, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 62000219, Project Item Line Number 0680, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 62000219, Project Item Line Number 1180, Material Set 620002196, Material 1048PMPFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 620002196, Material 1048PMFFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 620600C96, Material 1048PMFRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 620600C96, Material 1048PMFRTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 620600C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 0690, Material Set 6206000C96, Material 1048PMRBTP is insufficient. Estimate Exception	Number 0120, Material Set 616100996, Material 0616TMTC - Temporary Traffic Control Devices,	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 0170, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 1190, Material Set 620000296, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 620000C, Project Item Line Number 1190, Material Set 620000296, Material 1048PMFRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 620000296, Material 1048PMFRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 1090, Material Set 6206000C, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Gene	Number 0140, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices,	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 0670, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment, Acceptance Action Generic 0619PET is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6200021, Project Item Line Number 0680, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6200021, Project Item Line Number 1180, Material Set 620002196, Material 1048PMFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6200002, Project Item Line Number 1190, Material Set 620002196, Material 1048PMFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C36, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C36, Material 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C36, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 0690, Material Set 6206000C36, Material 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Waiting on reflectivity test results. Waiting on reflectivity test results. Pessec2 Overridden Waiting on reflectivity test results.	Number 0170, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment,	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 0680, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6200021, Project Item Line Number 1180, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 0690, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Waiting on reflectivity test results. Maiting on reflectivity test results. Waiting on reflectivity test results. hessec2 Overridden Waiting on reflectivity test results.	Number 0670, Material Set 619100096, Material 0619PET - Material for Pavement Edge Treatment,	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 1180, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Ďirect Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 0690, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Waiting on reflectivity test results. Waiting on reflectivity test results. hessec2 Overridden Waiting on reflectivity test results.	Number 0680, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indicat or	Certs are received needs to be entered in AWP.	hessec2	Overridden
Number 1190, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206000C, Project Item Line Number 1190, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 0690, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Waiting on reflectivity test results. Waiting on reflectivity test results. hessec2 Overridden Waiting on reflectivity test results.	Number 1180, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or	Waiting on reflectivity test results.	hessec2	Overridden
Number 1190, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Béads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Number 0690, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Waiting on reflectivity test results. Messec2 Overridden Waiting on reflectivity test results.	Number 1190, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic	Waiting on reflectivity test results.	hessec2	Overridden
Number 0690, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient. Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206000C, Project Item Line Waiting on reflectivity test results. hessec Overridden	Number 1190, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf	Waiting on reflectivity test results.	hessec2	Overridden
	Number 0690, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic	Waiting on reflectivity test results.	hessec2	Overridden
		Waiting on reflectivity test results.	hessec2	Overridden

Revision 4/1/2020 Page 10 of 26



Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation Er	ntered By	Status
Spec, Acceptance Action Generic 1048PMRBTP is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206001C, Project Item Line Number 0700, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206001C, Project Item Line Number 0700, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206001C, Project Item Line Number 1200, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206001C, Project Item Line Number 1200, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206124A, Project Item Line Number 0710, Material Set 6206124A96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206124A, Project Item Line Number 0710, Material Set 6206124A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206124A, Project Item Line Number 0710, Material Set 6206124A96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206125A, Project Item Line Number 1210, Material Set 6206125A96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206125A, Project Item Line Number 1210, Material Set 6206125A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 6206125A, Project Item Line Number 1210, Material Set 6206125A96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206125A, Project Item Line Number 0720, Material Set 6206125A96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206125A, Project Item Line Number 0720, Material Set 6206125A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 6206125A, Project Item Line Number 0720, Material Set 6206125A96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on reflectivity test results.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 8061019, Project Item Line Number 1320, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 9031010, Project Item Line Number 1350, Material Set 903101096, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 9031010, Project Item Line Number 0970, Material Set 903101096, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 9031270A, Project Item Line Number 1360, Material Set 9031270A96, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 9031271, Project Item Line Number 1370, Material Set 903127196, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 9031280, Project Item Line Number 1380, Material Set 903128096, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 9031280, Project Item Line Number 0980, Material Set 903128096, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 9031281, Project Item Line Number 0985, Material Set 903128196, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 9031281, Project Item Line Number 1390, Material Set 903128196, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3085D, Item 9035004A, Project Item Line Number 0987, Material Set 9035004A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Certs are received needs to be entered in AWP.	essec2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3143, Item 9035069A, Project Item Line	Certs are received needs to be entered in AWP.	essec2	Overridden

Revision 4/1/2020 Page 11 of 26



Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Number 1400, Material Set 9035069A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.			
Estimate Exception Type: Item Overrun: Contract 191115-C01, Contract Project J3P3085D, Project Item Line Number 0760, Contract Line Item Number 0760, Item 6224010, Minor Item.	No Remark was entered by Engineer	hessec2	Acknowledged

Revision 4/1/2020 Page 12 of 26



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract	Project	Category	Line	Item	port Generated date and can differ from the posted amo Description	Bid	Net	Total	Unit	Total	Unit Price	Total Value POSTED
Nm.CONTRACT	No.	Outegory	No.	Code	Беобірної	Quantity	Change Order	Current Quantity	OTHE	Posted Approved Qty	OTHER FIGO	To Date (See report generated date)
91115-C01	J3P3085C	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.75	\$20,869.00	\$15,651.75
		0001	0020	2031000	CLASS A EXCAVATION	1,947.00	0.00	1,947.00	CUYD	1,008.00	\$26.00	\$26,208.00
		0001	0030	2036000	COMPACTING EMBANKMENT	13.00	0.00	13.00	CUYD	0.00	\$12.00	\$0.00
		0001	0040	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	39.00	0.00	39.00	100F	0.00	\$120.50	\$0.00
		0001	0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	4,004.00	0.00	4,004.00	SQYD	2,217.00	\$15.20	\$33,698.40
		0001	0060	4019905	MISC.OPTIONAL PAVEMENT	4,004.00	0.00	4,004.00	SQYD	2,217.00	\$30.93	\$68,571.81
		0001	0070	4030001	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP095C MIX)	917.00	0.00	917.00	TONS	0.00	\$88.78	\$0.00
		0001	0800	4071006	TACK COAT - POLYMER MODIFIED	1,420.00	0.00	1,420.00	GAL	0.00	\$3.00	\$0.00
		0001	0090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.00
		0001	0100	6161005	CONSTRUCTION SIGNS	537.00	0.00	537.00	SQFT	500.00	\$7.00	\$3,500.00
		0001	0110	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$55.00	\$220.00
		0001	0120	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$35.00	\$140.00
		0001	0130	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	0.00	\$15.00	\$0.00
		0001	0140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION	4.00	0.00	4.00	EA	4.00	\$1,500.00	\$6,000.00
					INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED							
		0001	0150	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$128,228.76	\$0.00
		0001	0151	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.00	\$117,807.76	\$0.00
		0001	0160	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	0170	6191000	PAVEMENT EDGE TREATMENT	3,899.00	0.00	3,899.00	LF	1,100.00	\$5.15	\$5,665.00
		0001	0175	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	24.00	0.00	24.00	LF	0.00	\$40.00	\$0.00
		0001	0180	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	0.00	\$250.00	\$0.0
		0001	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	5,019.00	0.00	5,019.00	LF	0.00	\$0.30	\$0.0
		0001	0200	6206001C	PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	6,560.00	0.00	6,560.00	LF	0.00	\$0.30	\$0.00
		0001	0210	6206125A	MARKING PAINT, TYPE P BEADS 24 IN. YELLOW STANDARD WATERBORNE PAVEMENT	130.00	0.00	130.00	LF	0.00	\$3.00	\$0.0
		0001	0220	6207001	MARKING PAINT, TYPE P BEADS PAVEMENT MARKING REMOVAL	2,540.00	0.00	2,540.00	LF	0.00	\$0.35	\$0.0
			0230	6208063	TEMPORARY PAVEMENT MARKING	5,080.00	0.00	5,080.00	EA	5,080.00	\$0.30	\$1,524.0
		0001	0240	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF		0.00		SQYD		\$2.89	
		0001	0240	6221001	SURFACING (3 IN. THICK OR LESS)	7,020.00	0.00	7,020.00	SQTD	0.00	\$2.09	\$0.0
		0001	0250	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	400.00	0.00	400.00	SQYD	0.00	\$12.51	\$0.0
		0001	0260	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	32.40	0.00	32.40	STA	0.00	\$86.27	\$0.0
		0001	0270	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$4,000.00	\$0.0
		0001	0280	8051000A	SEEDING - COOL SEASON MIXTURES	0.50	0.00	0.50	ACRE	0.00	\$6,600.00	\$0.0
		0001	0290	8061006	ALTERNATE DITCH CHECK	80.00	0.00	80.00	LF	0.00	\$18.00	\$0.0
		0001	0300	8061016	SEDIMENT REMOVAL	46.00	0.00	46.00	CUYD	0.00	\$35.00	\$0.0
		0001	0310	8061019	SILT FENCE	4,176.00	0.00	4,176.00	LF	0.00	\$3.00	\$0.0
		0020	0320	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	2.00	0.00	2.00	EA	0.00	\$2,443.00	\$0.0
		0020	0330	9011115	BRACKET ARM, 15 FT. OR 4.6 M	2.00	0.00	2.00	EA	0.00	\$724.00	\$0.0
		0020	0340	9011311	LUMINAIRE, LED-A	2.00	0.00	2.00	EA	0.00	\$596.00	\$0.0
		0020	0350	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	2.00	0.00	2.00	EA	0.00	\$6,812.00	\$0.0
		0020	0360	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	248.00	0.00	248.00	LF	0.00	\$13.60	\$0.0
		0020	0370	9014003	CONDUIT, 3 IN. RIGID, PUSHED	162.00	0.00	162.00	LF	0.00	\$17.60	\$0.0
		0020	0375	9015010	TRENCHING TYPE I	71.00	0.00	71.00	LF	0.00	\$13.50	\$0.0
		0020	0380	9016110	PULL BOX, PREFORMED CLASS 1	3.00	0.00	3.00	EA	0.00	\$977.00	\$0.0
		0020	0390	9017008	CABLE, 8 AWG 1 CONDUCTOR	920.00	0.00	920.00	LF	0.00	\$1.90	\$0.0
		0020	0400	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	270.00	0.00	270.00	LF	0.00	\$1.80	\$0.0
									LF			

Revision 4/1/2020 Page 13 of 26



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POST To Date (See repo generated date)
91115-C01	J3P3085C	0020	0420	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	2.00	0.00	2.00	EA	0.00	\$1,176.00	\$0.
		0020	0430	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	2.00	0.00	2.00	EA	0.00	\$540.00	\$0.
		0040	0435	9031010	CONCRETE FOOTINGS, EMBEDDED	1.50	0.00	1.50	CUYD	0.00	\$1,200.00	\$0.
		0040	0440	9031210	STRUCTURAL STEEL POSTS	60.00	0.00	60.00	LB	0.00	\$7.00	\$0.
		0040	0450	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	8.00	0.00	8.00	EA	0.00	\$240.00	\$0
		0040	0460	9031270A	2 IN. PSST POST - 12 GA.	34.00	0.00	34.00	LF	0.00	\$16.40	\$0
		0040	0465	9031273	POST ANCHOR FOR 2 IN. PSST - 7 GA.	9.00	0.00	9.00	LF	0.00	\$41.20	\$0
		0040	0470	9031280	2.5 IN. PSST POST - 12 GA.	164.00	0.00	164.00	LF	0.00	\$17.25	\$(
		0040	0475	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	36.00	0.00	36.00	LF	0.00	\$54.00	\$
		0040	0480	9035004A	SH-FLAT SHEET	144.00	0.00	144.00	SQFT	0.00	\$21.00	\$
		0001	5001	6189901	MISC.New Mobilization Line Adjusted for Contract Bond	0.00	1.00	1.00	LS	1.00	\$10,421.00	\$10,42
	Project J3F	23085C - To	otal Value	Posted to D	late as of Report Generated Date							\$171,59
	J3P3085D	0001	0490	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$20,500.00	\$20,500
		0001	0500	2031000	CLASS A EXCAVATION	1,492.00	0.00	1,492.00	CUYD	1,318.00	\$27.00	\$35,58
		0001	0510	2036000	COMPACTING EMBANKMENT	6.00	0.00	6.00	CUYD	0.00	\$12.00	\$
		0001	0520	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	30.00	0.00	30.00	100F	0.00	\$168.00	\$
		0001	0530	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	43.60	0.00	43.60	SQYD	43.60	\$25.00	\$1,09
		0001	0540	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	3,548.00	0.00	3,548.00	SQYD	3,548.00	\$16.00	\$56,76
		0001	0550	4019905	MISC.OPTIONAL PAVEMENT	3,548.00	0.00	3,548.00	SQYD	3,548.00	\$33.25	\$117,97
		0001	0560	4030001	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP095C MIX)	887.70	0.00	887.70	TONS	859.60	\$86.89	\$74,69
		0001	0570	4071006	TACK COAT - POLYMER MODIFIED	1,310.00	0.00	1,310.00	GAL	1,260.00	\$3.00	\$3,78
		0001	0580	6083006	6 IN. CONCRETE MEDIAN STRIP	43.60	0.00	43.60	SQYD	21.80	\$183.00	\$3,98
		0001	0590	6161005	CONSTRUCTION SIGNS	544.00	0.00	544.00	SQFT	457.00	\$7.00	\$3,19
		0001	0600	6161008	ADVANCED WARNING RAIL SYSTEM	6.00	0.00	6.00	EA	0.00	\$55.00	
		0001	0610	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	0.00	\$35.00	
		0001	0620	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	0.00	\$15.00	5
		0001	0630	6161070	TUBULAR MARKER	8.00	0.00	8.00	EA	0.00	\$160.00	\$
		0001	0640	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	3.00	0.00	3.00	EA	0.00	\$1,500.00	\$
		0001	0650	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$95,262.76	\$
		0001	0660	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$
		0001	0670	6191000	PAVEMENT EDGE TREATMENT	3,062.00	0.00	3,062.00	LF	1,600.00	\$5.15	\$8,24
		0001	0680	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	4.00	\$250.00	\$1,00
		0001	0690	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	4,417.00	0.00	4,417.00	LF	3,534.00	\$0.30	\$1,06
		0001	0700	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	5,888.00	0.00	5,888.00	LF	4,710.00	\$0.30	\$1,41
		0001	0710	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	12.00	0.00	12.00	LF	12.00	\$3.00	\$3
		0001	0720	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	148.00	0.00	148.00	LF	148.00	\$3.00	\$44
		0001	0730	6207001	PAVEMENT MARKING REMOVAL	2,539.00	0.00	2,539.00	LF	0.00	\$0.35	5
		0001	0740	6208063	TEMPORARY PAVEMENT MARKING	5,078.00	0.00	5,078.00	EA	0.00	\$0.30	5
		0001	0750	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	5,884.00	0.00	5,884.00	SQYD	4,877.00	\$2.91	\$14,19
		0001	0760	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	689.00	0.00	689.00	SQYD	1,076.00	\$9.63	\$10,36
		0001	0770	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	32.40	0.00	32.40	STA	0.00	\$86.27	
		0001	0780	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$4,000.00	
		0001	0790	8051000A	SEEDING - COOL SEASON MIXTURES	0.60	0.00	0.60	ACRE	0.00	\$6,600.00	5
		0001	0800	8061006	ALTERNATE DITCH CHECK	80.00	0.00	80.00	LF	0.00	\$18.00	\$

Revision 4/1/2020 Page 14 of 26



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEI To Date (See repor generated date)
91115-C01	J3P3085D	0001	0810	8061016	SEDIMENT REMOVAL	32.00	0.00	32.00	CUYD	0.00	\$35.00	\$0.0
		0001	0820	8061017	TEMPORARY SEEDING AND MULCHING	0.40	0.00	0.40	ACRE	0.00	\$3,800.00	\$0.0
		0001	0830	8061019	SILT FENCE	2,847.00	0.00	2,847.00	LF	0.00	\$3.00	\$0.0
		0010	0840	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.0
		0020	0850	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	6.00	0.00	6.00	EA	0.00	\$2,443.00	\$0.0
		0020	0860	9011115	BRACKET ARM, 15 FT. OR 4.6 M	6.00	0.00	6.00	EA	0.00	\$724.00	\$0.0
		0020	0870	9011311	LUMINAIRE, LED-A	6.00	0.00	6.00	EA	0.00	\$556.00	\$0.0
		0020	0880	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	2.00	0.00	2.00	EA	0.00	\$6,812.00	\$0.0
		0020	0890	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	1,551.00	0.00	1,551.00	LF	0.00	\$8.30	\$0.0
		0020	0900	9014003	CONDUIT, 3 IN. RIGID, PUSHED	214.00	0.00	214.00	LF	0.00	\$18.80	\$0.0
		0020	0910	9016110	PULL BOX, PREFORMED CLASS 1	9.00	0.00	9.00	EA	0.00	\$956.00	\$0.0
		0020	0920	9017008	CABLE, 8 AWG 1 CONDUCTOR	290.00	0.00	290.00	LF	0.00	\$1.90	\$0.0
		0020	0930	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	540.00	0.00	540.00	LF	0.00	\$1.60	\$0.0
		0020	0940	9017405	CABLE-CONDUIT, 1 IN., 3 CONDUCTORS AND 1 BARE NEUTRAL, 6 AWG	1,140.00	0.00	1,140.00	LF	0.00	\$4.20	\$0.0
		0020	0950	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	6.00	0.00	6.00	EA	0.00	\$1,209.00	\$0.0
		0020	0960	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	2.00	0.00	2.00	EA	0.00	\$540.00	\$0.0
		0040	0970	9031010	CONCRETE FOOTINGS, EMBEDDED	0.60	0.00	0.60	CUYD	0.60	\$1,200.00	\$720.
		0040	0980	9031280	2.5 IN. PSST POST - 12 GA.	57.00	0.00	57.00	LF	57.00	\$17.25	\$983.
		0040	0985	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	15.00	0.00	15.00	LF	15.00	\$54.00	\$810.
_		0040	0987	9035004A	SH-FLAT SHEET	69.18	0.00	69.18	SQFT	69.18	\$21.00	\$1,452.
	Project J3F	3085D - To	otal Value	Posted to D	ate as of Report Generated Date							\$358,287.
	J3P3143	0001	1000	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$9,000.00	\$9,000.
		0001	1010	2031000	CLASS A EXCAVATION	1,282.00	0.00	1,282.00	CUYD	1,282.00	\$28.00	\$35,896.
		0001	1020	2036000	COMPACTING EMBANKMENT	7.00	0.00	7.00	CUYD	0.00	\$12.00	\$0.
		0001	1030	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	29.00	0.00	29.00	100F	29.00	\$120.00	\$3,480.
		0001	1040	2153000	SHAPING SLOPES, CLASS III	2.00	0.00	2.00	100F	0.00	\$1,500.00	\$0.
		0001	1050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	2,943.00	0.00	2,943.00	SQYD	2,943.00	\$16.00	\$47,088.
		0001	1060	4019905	MISC.1	2,943.40	0.00	2,943.40	SQYD	2,943.00	\$35.03	\$103,093.
		0001	1070	4030001	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP095C MIX)	668.00	0.00	668.00	TONS	0.00	\$101.15	\$0.
		0001	1080	4071006	TACK COAT - POLYMER MODIFIED	140.00	0.00	140.00	GAL	0.00	\$3.00	\$0.
		0001	1090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.
		0001	1100	6161005	CONSTRUCTION SIGNS	495.00	0.00	495.00	SQFT	432.00	\$7.00	\$3,024.
		0001	1110	6161008	ADVANCED WARNING RAIL SYSTEM	5.00	0.00	5.00	EA	5.00	\$55.00	\$275.
		0001	1120	6161009	FLAG ASSEMBLY	5.00	0.00	5.00	EA	5.00	\$35.00	\$175.
		0001	1130	6161025	CHANNELIZER (TRIM LINE)	120.00	0.00	120.00	EA	120.00	\$15.00	\$1,800.
		0001	1140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.
		0001	1150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$61,098.76	\$30,549
		0001	1160	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	3.00	0.00	3.00	EA	0.00	\$600.00	\$0.
		0001	1170	6191000	PAVEMENT EDGE TREATMENT	2,809.00	0.00	2,809.00	LF	2,809.00	\$5.15	\$14,466
		0001	1180	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	4.00	\$250.00	\$1,000
		0001	1190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,801.00	0.00	3,801.00	LF	3,041.00	\$0.50	\$1,520
		0001	1200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	4,398.00	0.00	4,398.00	LF	3,518.00	\$0.50	\$1,759
		0001	1210	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT	117.00	0.00	117.00	LF	117.00	\$3.00	\$351.
		0001			MARKING PAINT, TYPE P BEADS							

Revision 4/1/2020 Page 15 of 26



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191115-C01	J3P3143	0001	1230	6208063	TEMPORARY PAVEMENT MARKING	4,488.00	0.00	4,488.00	EA	4,488.00	\$0.35	\$1,570.80
		0001	1240	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	5,086.00	0.00	5,086.00	SQYD	0.00	\$4.62	\$0.00
		0001	1250	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	600.00	0.00	600.00	SQYD	0.00	\$12.51	\$0.00
		0001	1260	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	12.60	0.00	12.60	STA	0.00	\$127.56	\$0.00
		0001	1270	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$4,000.00	\$4,000.00
		0001	1280	8051000A	SEEDING - COOL SEASON MIXTURES	0.50	0.00	0.50	ACRE	0.00	\$6,600.00	\$0.00
		0001	1290	8061006	ALTERNATE DITCH CHECK	240.00	0.00	240.00	LF	240.00	\$18.00	\$4,320.00
		0001	1300	8061016	SEDIMENT REMOVAL	14.00	0.00	14.00	CUYD	0.00	\$35.00	\$0.00
		0001	1310	8061017	TEMPORARY SEEDING AND MULCHING	0.80	0.00	0.80	ACRE	0.00	\$2,200.00	\$0.00
		0001	1320	8061019	SILT FENCE	185.00	0.00	185.00	LF	185.00	\$4.00	\$740.00
		0010	1330	6061060	MGS GUARDRAIL	25.00	0.00	25.00	LF	25.00	\$22.00	\$550.00
		0010	1340	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600.00
		0040	1350	9031010	CONCRETE FOOTINGS, EMBEDDED	0.10	0.00	0.10	CUYD	0.10	\$1,200.00	\$120.00
		0040	1360	9031270A	2 IN. PSST POST - 12 GA.	20.00	0.00	20.00	LF	20.00	\$16.40	\$328.00
		0040	1370	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	4.50	0.00	4.50	LF	4.50	\$35.00	\$157.50
		0040	1380	9031280	2.5 IN. PSST POST - 12 GA.	12.00	0.00	12.00	LF	12.00	\$18.00	\$216.00
		0040	1390	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	3.00	0.00	3.00	LF	3.00	\$54.00	\$162.00
		0040	1400	9035069A	SHF-FLAT SHEET FLUORESCENT	25.75	0.00	25.75	SQFT	25.75	\$24.00	\$618.00
	Project J3	P3143 - Tota	al Value F	Posted to Da	te as of Report Generated Date							\$274,859.82
191115-C01 Ove	erall - Total \	/alue Poste	d to Date	as of Repor	t Generated Date							\$804,747.00

Revision 4/1/2020 Page 16 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J3P3085C

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	8/27/20	9/2/20	0.75	LS	Throughout the project for saw cuts and removing island.	240+77		260+37		
0020	2031000	CLASS A EXCAVATION	8/26/20	9/2/20	560.00	CUYD	WB shoulder throughout the project.	240+77		260+37		
			8/27/20	9/2/20	448.00	CUYD	WB shoulder throughout the project limits	240+77		260+37		
0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	8/26/20	9/2/20	2,217.00	SQYD	WB shoulder throughout the project	240+77		260+37		
0060	4019905	MISC.	8/28/20	9/2/20	2,217.00	SQYD	WB shoulder throughout the project limits.	240+77		260+37		
0100	6161005	CONSTRUCTION SIGNS	8/24/20	9/2/20	500.00	SQFT	See DIR for exact locations	0+00		209+80		
0110	6161008	ADVANCED WARNING RAIL SYSTEM	8/24/20	9/2/20	4.00	EA	See locations in DIR	0+00		209+80		
0120	6161009	FLAG ASSEMBLY	8/24/20	9/2/20	4.00	EA	See locations in DIR	0+00		209+80		
0140	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	8/24/20	9/2/20	4.00	EA	See DIR for locations	0+00		209+80		
0170	6191000	PAVEMENT EDGE TREATMENT	8/26/20	9/2/20	1,100.00	LF	WB shoulder throughout the project limits	240+77		260+37		
0230	6208063	TEMPORARY PAVEMENT MARKING	8/26/20	9/2/20	5,080.00	EA	Throughout the project limits at Rte. O/Z on mainline for Rte. 210	612+86		627+75		

Project: J3P3085D

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0490	2022010	REMOVAL OF IMPROVEMENTS	8/18/20	9/1/20	0.25	LS	Throughout the project	612+86		627+75		
0500	2031000	CLASS A EXCAVATION	8/18/20	9/1/20	700.00	CUYD	EB shoulder throughout the project.	612+86		627+75		
			8/19/20	9/2/20	118.00	CUYD	Finishing up the EB shoulder.	612+86		627+75		
0540	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	8/19/20	9/2/20	2,056.60	SQYD	EB shoulder throughout the project limits	612+86		627+75		
			8/29/20	9/2/20	1,491.40	SQYD		612+86		627+75		This is catchup pay from 8-12-20 and 8-14-20. its all the WB shoulder and from where the island was at.
0550	4019905	MISC.	8/19/20	9/2/20	2,056.60	SQYD	EB shoulder throughout the project limits	612+86		627+75		
0560	4030001	ASPH. CONC. MIXTURE PG 64-22 (SP095C)	8/20/20	9/2/20	859.60	TONS	Mainline surface throughout the project EB and WB.	612+86		627+75		
0570	4071006	TACK COAT - POLYMER MODIFIED	8/20/20	9/2/20	1,260.00	GAL	Mainline and shoulder surface throughout the project limits EB and WB	612+86		627+75		
0670	6191000	PAVEMENT EDGE TREATMENT	8/18/20	9/1/20	1,600.00	LF	EB shoulder throughout the project.	612+86		627+75		
0680	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	8/26/20	9/2/20	4.00	EA	Center Turn lane Arrows for Rte. 210	612+86		627+75		
0690	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	8/26/20	9/2/20	3,534.00	LF	Throughout the project limits of Rte. 10/210. This is 80%	612+86		627+75		
0700	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	8/26/20	9/2/20	4,710.00	LF	Throughout the project limits of Rte. 10/210. This is 80%	612+86		627+75		
0710	6206124A	24 IN. WHITE WATERBORNE PAVEMENT MARKING	8/26/20	9/2/20	12.00	LF	Stop Bar for Rte. 10 at Rte. 210	612+86		627+75		
0720	6206125A	24 IN. YELLOW WATERBORNE PAVEMENT MARKIN	8/26/20	9/2/20	148.00	LF	Hash marks for Rte. 210 at Rte. 10.	612+86		627+75		
0750	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	8/20/20	9/2/20	4,877.00	SQYD	Mainline throughout the project limits EB and WB.	612+86		627+75		
0760	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8/20/20	9/2/20	1,076.00	SQYD	Around the islands and at all three ends of the project.	612+86		627+75		
0970	9031010	CONCRETE FOOTINGS, EMBEDDED	8/26/20	9/2/20	0.60	CUYD	Various locations at Rte. 10/210	612+86		627+75		
0980	9031280	2.5 IN. PSST POST - 12 GA.	8/26/20	9/2/20	57.00	LF	Various locations at Rte. 10/210	612+86		627+75		
0985	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	8/26/20	9/2/20	15.00	LF	Various locations at Rte. 10/210	612+86		627+75		
0987	9035004A	SH-FLAT SHEET	8/26/20	9/2/20	69.18	SQFT	Various locations at Rte. 10/210.	612+86		627+75		

Project: J3P3143

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1000	2022010	REMOVAL OF IMPROVEMENTS	8/26/20	9/2/20	0.60	LS	Throughout the project at Henkel Dr.	736+21		750+50		
1180	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	8/26/20	9/2/20	4.00	EA	Various locations throughout the project at Henkel Dr.	736+21		750+50		
1190	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	8/26/20	9/2/20	3,041.00	LF	Throughout the project at Henkel Dr. This is 80%	736+21		750+50		
1200	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	8/26/20	9/2/20	3,518.00	LF	Throughout the project at Henkel Dr. This is 80%	736+21		750+50		
1210	6206125A	24 IN. YELLOW WATERBORNE PAVEMENT MARKIN	8/26/20	9/2/20	117.00	LF	Various locations throughout the project at Henkel Dr.	736+21		750+50		
1330	6061060	MGS GUARDRAIL	8/26/20	9/2/20	25.00	LF	Guardrail under the overpass at Henkel Dr.	736+21		750+50		
1340	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)	8/26/20	9/2/20	2.00	EA	Under the overpass at Henkel Dr.	736+21		750+50		
1350	9031010	CONCRETE FOOTINGS, EMBEDDED	8/26/20	9/2/20	0.10	CUYD	Under the overpass at Henkel Dr.	741+31		741+31		
1360	9031270A	2 IN. PSST POST - 12 GA.	8/26/20	9/2/20	20.00	LF	Sta. 738+31 at the Henkel Dr. project.	738+31		738+31		
1370	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	8/26/20	9/2/20	4.50	LF	Sta. 738+31 at the Henkel Dr. Project	738+31		738+31		
1380	9031280	2.5 IN. PSST POST - 12 GA.	8/26/20	9/2/20	12.00	LF	Sta. 741+31 at the Henkel Dr. project	741+31		741+31		
1390	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	8/26/20	9/2/20	3.00	LF	Sta. 741+31 at the Henkel Dr. project	741+31		741+31		
1400	9035069A	SHF-FLAT SHEET FLUORESCENT	8/26/20	9/2/20	25.75	SQFT	Sta. 741+31 at the Henkel Dr. Project	741+31		741+31		

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 17 of 26



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0020	CLASS A EXCAVATION	Price		5	Sep 2, 2020	SYSTEM	(\$177.41)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$177.41)	
	Price - Total						(\$177.41)	
0020 -	Total						(\$177.41)	
0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		5	Sep 2, 2020	SYSTEM	(\$33,698.40)	
				5	Sep 2, 2020	SYSTEM	\$33,698.40	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user hessec2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Price		5	Sep 2, 2020	SYSTEM	(\$448.72)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$448.72)	
	Price - Total						(\$448.72)	
0050 -	Total						(\$448.72)	
0100	CONSTRUCTION SIGNS	Material		5	Sep 2, 2020	SYSTEM	(\$3,500.00)	
				5	Sep 2, 2020	SYSTEM	\$3,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user hessec2 overridding Payment Estimate Exception 13 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0100 -	Total						\$0.00	
0110	ADVANCED WARNING RAIL SYSTEM	Material		5	Sep 2, 2020	SYSTEM	(\$220.00)	
				5	Sep 2, 2020	SYSTEM	\$220.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user hessec2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0110 -	Total						\$0.00	
0120	FLAG ASSEMBLY	Material		5	Sep 2, 2020	SYSTEM	(\$140.00)	
				5	Sep 2, 2020	SYSTEM	\$140.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user hessec2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0120 -	Total						\$0.00	
0140	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE,	Material		5	Sep 2, 2020	SYSTEM	(\$6,000.00)	
	CONTRACTOR FURNISHED, CONTRACTOR RETAINED			5	Sep 2, 2020	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user hessec2 overridding Payment Estimate Exception 16 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0140 -	Total						\$0.00	
0170	PAVEMENT EDGE TREATMENT	Material		5	Sep 2, 2020	SYSTEM	(\$5,665.00)	
				5	Sep 2, 2020	SYSTEM	\$5,665.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user hessec2 overridding Payment Estimate Exception 17 on the current Payment Estimate.
		- Total				\$0.00		
	Material - Total						\$0.00	

Revision 4/1/2020 Page 18 of 26



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0170 -	Total						\$0.00	
0500	CLASS A EXCAVATION	Other Item Adjustment	FUEL	4	Aug 17, 2020	hessec2	\$88.00	Removing the all of the fuel adjustment for line 0500. Will add this adjustment to the next estimate for this estimate period.
				5	Sep 2,	hessec2	(\$88.00)	This is the adjustment that was taken off on Estimate 004.
					2020			Fuel Adjustment Line No. 0500 Installed Quantity =
								500 SqYd * 0.2 * -0.88 = \$-88.00
			FUEL - Tota	ıl			\$0.00	
	Other Item Adjustment - Total						\$0.00	
	CLASS A EXCAVATION	Price		4	Aug 17, 2020	SYSTEM	(\$88.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				5	Sep 2, 2020	SYSTEM	(\$143.97)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$231.97)	
	Price - Total						(\$231.97)	
0500 -	Total						(\$231.97)	
0530	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		4	Aug 17, 2020	SYSTEM	(\$1,090.00)	
				4	Aug 17, 2020	SYSTEM	\$1,090.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				5	Sep 2, 2020	SYSTEM	(\$1,090.00)	
				5	Sep 2, 2020	SYSTEM	\$1,090.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	FUEL	4	Aug 17, 2020	hessec2	\$5.76	Removing the all of the fuel adjustment for line 0530. Will add this adjustment to the next estimate for this estimate period.
				5	Sep 2, 2020	hessec2	(\$5.76)	This is the adjustment that was taken off on Estimate 004.
					2020			Fuel Adjustment Line No. 0530 Installed Quantity =
								43.6 SqYd * .15 * -0.88 = \$-5.76
			FUEL - Tota	ıl			\$0.00	
	Other Item Adjustment - Total						\$0.00	
	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		4	Aug 17, 2020	SYSTEM	(\$5.76)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$5.76)	
	Price - Total						(\$5.76)	
0530 -	Total						(\$5.76)	
0540	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		5	Sep 2, 2020	SYSTEM	(\$56,768.00)	
				5	Sep 2, 2020	SYSTEM	\$56,768.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user hessec2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Other Item Adjustment	FUEL	5	Sep 2, 2020	hessec2	(\$301.86)	This is the adjustment that was taken off on Estimate 004. Fuel Adjustment Line No. 0540 Installed Quantity =
				5	Sep 2, 2020	hessec2	\$301.86	1491.40 SqYd * 0.23 * *0.88 = \$-301.86 This is to remove the fuel adjustment for Line No. 0540 that was paid on this estimate, but was installed during Estimate period
								004.
			FUEL - Tota	ıl			\$0.00	

Revision 4/1/2020 Page 19 of 26



Material - Total Material -	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Price Total Tota	0540	Other Item Adjustment - Total						\$0.00	
Prior - Total			Price		5		SYSTEM	(\$718.12)	
MISC. OPTIONAL PAVEMENT Material Facility Material Facil				- Total				(\$718.12)	
Section Part		Price - Total						(\$718.12)	
Part	0540 -	· Total						(\$718.12)	
Payment Estimate to Adjustment (0000) disc to user hease2 Payment Estimate (0000) disc to user hease2 Payment Estimate (0000) disc to user hease2 Payment Estimate Payment	0550	MISC. OPTIONAL PAVEMENT	Material		4		SYSTEM	(\$49,589.05)	
Sept					4		SYSTEM	\$49,589.05	Payment Estimate Item Adjustment (0008) due to user hessec2 overridding Payment Estimate Exception 3 on the current Payment
Payment Estimate Item Aglicatione (1009) due to use heases-20 voverificing Payment Estimate Item Aglicatione (1009) due to use heases-20 voverificing Payment Estimate Exception 4 on the current Payment Estimate Item Aglicatione (1009) due to use heases-20 voverificing Payment Estimate Exception 4 on the current Payment Estimate Item Aglicatione (1009) due to use heases-20 voverificing Payment Estimate Exception 4 on the current Payment Estimate Item Aglicatione (1009) due to use heases-20 voverificing Payment Estimate Exception 5 on the current Payment Estimate Item Aglicatione (1009) due to use heases-20 voverificing Payment Estimate Item Aglicatione (1009) due to use heases-20 voverificing Payment Estimate Exception 5 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 6 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 6 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 6 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 6 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 6 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 6 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 6 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 7 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Exception 7 on the current Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimate Item Aglicatione (1009) due to use hease-20 voverificing Payment Estimat					5		SYSTEM	(\$117,971.00)	
National - Total 1960 19					5		SYSTEM	\$117,971.00	Payment Estimate Item Adjustment (0029) due to user hessec2 overridding Payment Estimate Exception 6 on the current Payment
SSP Total				- Total				\$0.00	
Material - Total		Material - Total						\$0.00	
Company Comp	0550 -	· Total						\$0.00	
Price - Total	0560		Price		5		SYSTEM	(\$2,511.41)	
Sep 2, SYSTEM S3,989.40				- Total				(\$2,511.41)	
TACK COAT - POLYMER MODIFIED Material		Price - Total						(\$2,511.41)	
	0560 -	· Total						(\$2,511.41)	
Payment Estimate Item Adjustment (0031) due to user hessec2 overriding Payment Estimate Exception 7 on the current Payment Estimate Item Adjustment (0031) due to user hessec2 overriding Payment Estimate Exception 7 on the current Payment Item Adjustment offsets the original system-generated Overrun Payment Item Adjustment offsets the original system-generated Overrun Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 4 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 4 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 4 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 9 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 9 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 9 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 9 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 7 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 7 on the current Payment Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Exception 7 on the current Payment Item Estimate Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Item Adjustment (0009) due to user hessec2 overriding Payment Estimate Item Adjustment (0009) d	0570	TACK COAT - POLYMER MODIFIED	Material		5		SYSTEM	(\$3,780.00)	
Material - Total S0.00					5		SYSTEM	\$3,780.00	Payment Estimate Item Adjustment (0031) due to user hessec2 overridding Payment Estimate Exception 7 on the current Payment
Solid Soli				- Total				\$0.00	
		Material - Total						\$0.00	
2020 2020	0570 -	· Total						\$0.00	
2020 Payment Estimate Hem Adjustment (0009) due to user hessec2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	0580	6 IN. CONCRETE MEDIAN STRIP	Material		4		SYSTEM	(\$3,989.40)	
2020					4		SYSTEM	\$3,989.40	Payment Estimate Item Adjustment (0009) due to user hessec2 overridding Payment Estimate Exception 4 on the current Payment
2020 Payment Estimate Item Adjustment (0032) due to user hessec2 overridding Payment Estimate Exception 9 on the current Payment Estimate.					5		SYSTEM	(\$3,989.40)	
Material - Total S0.00					5		SYSTEM	\$3,989.40	Payment Estimate Item Adjustment (0032) due to user hessec2 overridding Payment Estimate Exception 9 on the current Payment
CONSTRUCTION SIGNS Material				- Total				\$0.00	
CONSTRUCTION SIGNS Material 4 Aug 17, 2020 SYSTEM (\$3,199.00) 4 Aug 17, 2020 SYSTEM \$3,199.00 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user hessec2 overridding Payment Estimate Exception 7 on the current Payment Estimate. 5 Sep 2, 2020 SYSTEM (\$3,199.00) 5 Sep 2, 2020 SYSTEM \$3,199.00 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user hessec2 overridding Payment Estimate Exception 12 on the current Payment Estimate. -Total \$0.00		Material - Total						\$0.00	
4 Aug 17, 2020 \$\frac{1}{2020}\$ \$1	0580 -	·Total						\$0.00	
Payment Estimate Item Adjustment (0010) due to user hessec2 overridding Payment Estimate Exception 7 on the current Payment Estimate. 5 Sep 2, 2020 5 Sep 2, 2020 5 Sep 2, 2020 5 Sep 2, 2020 5 Sep 3, 3,199.00 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user hessec2 overridding Payment Estimate Exception 12 on the current Payment Estimate.	0590	CONSTRUCTION SIGNS	Material		4		SYSTEM	(\$3,199.00)	
5 Sep 2, 2020 5 Sep 2, 2020 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user hessec2 overridding Payment Estimate Exception 12 on the current Payment Estimate.					4		SYSTEM	\$3,199.00	Payment Estimate Item Adjustment (0010) due to user hessec2 overridding Payment Estimate Exception 7 on the current Payment
Payment Estimate Item Adjustment (0033) due to user hessec2 overridding Payment Estimate Exception 12 on the current Payment Estimate. - Total \$0.00					5		SYSTEM	(\$3,199.00)	
					5		SYSTEM	\$3,199.00	Payment Estimate Item Adjustment (0033) due to user hessec2 overridding Payment Estimate Exception 12 on the current
Material - Total \$0.00						\$0.00			
		Material - Total						\$0.00	

Revision 4/1/2020 Page 20 of 26



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0590 -	Total						\$0.00	
0670	PAVEMENT EDGE TREATMENT	Material		5	Sep 2, 2020	SYSTEM	(\$8,240.00)	
				5	Sep 2, 2020	SYSTEM	\$8,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) due to user hessec2 overridding Payment Estimate Exception 18 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0670 -	Total						\$0.00	
0680	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		5	Sep 2, 2020	SYSTEM	(\$1,000.00)	
	ARROW			5	Sep 2, 2020	SYSTEM	\$1,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) due to user hessec2 overridding Payment Estimate Exception 19 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0680 -	Total						\$0.00	
0690	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Material		5	Sep 2, 2020	SYSTEM	(\$1,060.20)	
	BEADS			5	Sep 2, 2020	SYSTEM	\$1,060.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0036) due to user hessec2 overridding Payment Estimate Exception 23 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0690 -	Total						\$0.00	
0700	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	P		5	Sep 2, 2020	SYSTEM	(\$1,413.00)	
	BEADS			5	Sep 2, 2020	SYSTEM	\$1,413.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0037) due to user hessec2 overridding Payment Estimate Exception 25 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0700 -	Total						\$0.00	
0710	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		5	Sep 2, 2020	SYSTEM	(\$36.00)	
	DEAUS			5	Sep 2, 2020	SYSTEM	\$36.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0038) due to user hessec2 overridding Payment Estimate Exception 29 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0710 -	Total						\$0.00	
0720	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		5	Sep 2, 2020	SYSTEM	(\$444.00)	
	FAIRT, TIPE P DEAUS			5	Sep 2, 2020	SYSTEM	\$444.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user hessec2 overridding Payment Estimate Exception 35 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0720 -	Total						\$0.00	
0760	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun	Overrun	5	Sep 2, 2020	SYSTEM	(\$3,726.81)	
			Overrun - T	otal			(\$3,726.81)	
	Overrun - Total						(\$3,726.81)	
0760 -	Total						(\$3,726.81)	
0970	CONCRETE FOOTINGS, EMBEDDED	Material		5	Sep 2, 2020	SYSTEM	(\$720.00)	

Revision 4/1/2020 Page 21 of 26



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0970	CONCRETE FOOTINGS, EMBEDDED	Material		5	Sep 2, 2020	SYSTEM	\$720.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user hessec2 overridding Payment Estimate Exception 40 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0970 -	Total						\$0.00	
0980	2.5 IN. PSST POST - 12 GA.	Material		5	Sep 2, 2020	SYSTEM	(\$983.25)	
				5	Sep 2, 2020	SYSTEM	\$983.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0042) due to user hessec2 overridding Payment Estimate Exception 44 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0980 -	Total						\$0.00	
0985	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		5	Sep 2, 2020	SYSTEM	(\$810.00)	
				5	Sep 2, 2020	SYSTEM	\$810.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0044) due to user hessec2 overridding Payment Estimate Exception 45 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0985 -	Total						\$0.00	
0987	SH-FLAT SHEET	Material		5	Sep 2, 2020	SYSTEM	(\$1,452.78)	
				5	Sep 2, 2020	SYSTEM	\$1,452.78	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) due to user hessec2 overridding Payment Estimate Exception 47 on the current Payment Estimate.
								· - / · · · · · · · · · · · · · · · · · · ·
			- Total				\$0.00	
	Material - Total		- Total				\$0.00 \$0.00	
0987 -			- Total					
0987 - 1010		Price	- Total	2	Jul 16, 2020	SYSTEM	\$0.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	Total	Price	- Total	2		SYSTEM SYSTEM	\$0.00 \$0.00	Reference Item Price Adjustment Index Adjustment Type applied
	Total	Price	- Total		2020 Aug 3,		\$0.00 \$0.00 (\$111.48)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied
	Total	Price			2020 Aug 3,		\$0.00 \$0.00 (\$111.48) (\$111.59)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied
1010	Total CLASS A EXCAVATION	Price			2020 Aug 3,		\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied
1010	Total CLASS A EXCAVATION Price - Total				2020 Aug 3,		\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied
1010	Total CLASS A EXCAVATION Price - Total Total SUBGRADE COMPACTION (6-INCH			3	2020 Aug 3, 2020 Jul 16,	SYSTEM	\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07) (\$223.07)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied
1010	Total CLASS A EXCAVATION Price - Total Total SUBGRADE COMPACTION (6-INCH			2	2020 Aug 3, 2020 Jul 16, 2020 Jul 16,	SYSTEM	\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07) (\$223.07) (\$223.07) (\$1,740.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment
1010	Total CLASS A EXCAVATION Price - Total Total SUBGRADE COMPACTION (6-INCH		- Total	2	2020 Aug 3, 2020 Jul 16, 2020 Jul 16,	SYSTEM	\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07) (\$223.07) (\$1,740.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment
1010	Total CLASS A EXCAVATION Price - Total Total SUBGRADE COMPACTION (6-INCH DEPTH) Material - Total		- Total	2	2020 Aug 3, 2020 Jul 16, 2020 Jul 16,	SYSTEM	\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07) (\$223.07) (\$1,740.00) \$1,740.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment
1010 - 1010 - 1030	Total CLASS A EXCAVATION Price - Total Total SUBGRADE COMPACTION (6-INCH DEPTH) Material - Total		- Total	2	2020 Aug 3, 2020 Jul 16, 2020 Jul 16,	SYSTEM	\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07) (\$223.07) (\$223.07) (\$1,740.00) \$1,740.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment
1010 - 1030 -	Total CLASS A EXCAVATION Price - Total Total SUBGRADE COMPACTION (6-INCH DEPTH) Material - Total Total TYPE 5 AGGREGATE FOR BASE (6 IN.	Material	- Total	2 2	2020 Aug 3, 2020 Jul 16, 2020 Jul 16, 2020 Jul 16, 2020	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07) (\$223.07) (\$223.07) (\$1,740.00) \$1,740.00 \$0.00 \$0.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment
1010 - 1030 -	Total CLASS A EXCAVATION Price - Total Total SUBGRADE COMPACTION (6-INCH DEPTH) Material - Total Total TYPE 5 AGGREGATE FOR BASE (6 IN.	Material	- Total	2 2	2020 Aug 3, 2020 Jul 16, 2020	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07) (\$223.07) (\$223.07) (\$1,740.00) \$1,740.00 \$0.00 \$0.00 \$0.00 (\$25,404.80)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user hessec2 overridding Payment Estimate Exception 2 on the current Payment
1010 - 1030 -	Total CLASS A EXCAVATION Price - Total Total SUBGRADE COMPACTION (6-INCH DEPTH) Material - Total Total TYPE 5 AGGREGATE FOR BASE (6 IN.	Material	- Total	2 2 2	Jul 16, 2020 Aug 3,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$111.48) (\$111.59) (\$223.07) (\$223.07) (\$223.07) (\$1,740.00) \$1,740.00 \$0.00 \$0.00 \$0.00 \$25,404.80)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user hessec2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user hessec2 overridding Payment Estimate Exception 2 on the current Payment

Revision 4/1/2020 Page 22 of 26



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		4	Aug 17, 2020	SYSTEM	\$47,088.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user hessec2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				5	Sep 2, 2020	SYSTEM	(\$47,088.00)	
				5	Sep 2, 2020	SYSTEM	\$47,088.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user hessec2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Other Item Adjustment	FUEL	4	Aug 17, 2020	hessec2	\$274.29	Removing the all of the fuel adjustment for line 1050. Will add this adjustment to the next estimate for this estimate period.
			FUEL - Tota	ıl			\$274.29	
	Other Item Adjustment - Total						\$274.29	
	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Price		2	Jul 16, 2020	SYSTEM	(\$317.72)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				4	Aug 17, 2020	SYSTEM	(\$274.29)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$592.01)	
	Price - Total						(\$592.01)	
1050 -	- Total						(\$317.72)	
1060	MISC. 1	Other Item Adjustment	ACAD	2	Jul 16, 2020	hessec2	(\$1,766.45)	AC Adjustment Line No. 1060 Installed Quantity =
								-72.5 X 1.98 X 9 / 36 X 1587.8 SY X 3.1% = \$ -1,766.45
			ACAD - Tota	al			(\$1,766.45)	
	MISC. 1		FUEL	2	Jul 16, 2020	hessec2	(\$2,099.58)	Fuel Adjustment Line No. 1060 Installed Quantity =
								726.9 tons @ 3.32 X -0.87 =
				5	Sep 2, 2020	hessec2	(\$274.29)	This is the adjustment that was taken off on Estimate 004.
					2020			Fuel Adjustment Line No. 1060 Installed Quantity =
								1355.2 SqYd * 0.23 * -0.88 = \$-274.29
			FUEL - Tota	1			(\$2,373.87)	
	Other Item Adjustment - Total		1022 1044	··			(\$4,140.32)	
1060 -	- Total						(\$4,140.32)	
1100	CONSTRUCTION SIGNS	Material		2	Jul 16, 2020	SYSTEM	(\$3,024.00)	
				2	Jul 16, 2020	SYSTEM	\$3,024.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user hessec2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1100 -	- Total						\$0.00	
1170	PAVEMENT EDGE TREATMENT	Material		2	Jul 16, 2020	SYSTEM	(\$7,359.35)	
				2	Jul 16, 2020	SYSTEM	\$7,359.35	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user hessec2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1170 -	- Total						\$0.00	
1180	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT	Material		5	Sep 2, 2020	SYSTEM	(\$1,000.00)	
	ARROW			5	Sep 2, 2020	SYSTEM	\$1,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user hessec2

Revision 4/1/2020 Page 23 of 26



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1180	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material						overridding Payment Estimate Exception 20 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1180 -	·Total						\$0.00	
1190	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		5	Sep 2, 2020	SYSTEM	(\$1,520.50)	
				5	Sep 2, 2020	SYSTEM	\$1,520.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user hessec2 overridding Payment Estimate Exception 21 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1190 -	Total						\$0.00	
1200	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		5	Sep 2, 2020	SYSTEM	(\$1,759.00)	
				5	Sep 2, 2020	SYSTEM	\$1,759.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user hessec2 overridding Payment Estimate Exception 27 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1200 -	· Total						\$0.00	
1210	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		5	Sep 2, 2020	SYSTEM	(\$351.00)	
	FAINT, TIPE P BEADS			5	Sep 2, 2020	SYSTEM	\$351.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user hessec2 overridding Payment Estimate Exception 32 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1210 -	· Total						\$0.00	
1290	ALTERNATE DITCH CHECK	Material		2	Jul 16, 2020	SYSTEM	(\$2,160.00)	
				2	Jul 16, 2020	SYSTEM	\$2,160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user hessec2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1290 -	·Total						\$0.00	
1320	SILT FENCE	Material		2	Jul 16, 2020	SYSTEM	(\$740.00)	
				2	Jul 16, 2020	SYSTEM	\$740.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user hessec2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				3	Aug 3, 2020	SYSTEM	(\$740.00)	
				3	Aug 3, 2020	SYSTEM	\$740.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user hessec2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				4	Aug 17, 2020	SYSTEM	(\$740.00)	
				4	Aug 17, 2020	SYSTEM	\$740.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user hessec2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				5	Sep 2, 2020	SYSTEM	(\$740.00)	
				5	Sep 2, 2020	SYSTEM	\$740.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user hessec2 overridding Payment Estimate Exception 38 on the current Payment Estimate.

Revision 4/1/2020 Page 24 of 26



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1320		Material	- Total				\$0.00	
	Material - Total						\$0.00	
1320 -	Total						\$0.00	
1330	MGS GUARDRAIL	Material		5	Sep 2, 2020	SYSTEM	(\$550.00)	
				5	Sep 2, 2020	SYSTEM	\$550.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user hessec2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1330 -	Total						\$0.00	
1350	CONCRETE FOOTINGS, EMBEDDED	Material		5	Sep 2, 2020	SYSTEM	(\$120.00)	
				5	Sep 2, 2020	SYSTEM	\$120.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user hessec2 overridding Payment Estimate Exception 39 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1350 -	Total						\$0.00	
1360	2 IN. PSST POST - 12 GA.	Material		5	Sep 2, 2020	SYSTEM	(\$328.00)	
				5	Sep 2, 2020	SYSTEM	\$328.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user hessec2 overridding Payment Estimate Exception 41 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1360 -	Total						\$0.00	
1370	POST ANCHOR FOR 2 IN. PSST - 12 GA.	Material		5	Sep 2, 2020	SYSTEM	(\$157.50)	
				5	Sep 2, 2020	SYSTEM	\$157.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user hessec2 overridding Payment Estimate Exception 42 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1370 -	Total						\$0.00	
1380	2.5 IN. PSST POST - 12 GA.	Material		5	Sep 2, 2020	SYSTEM	(\$216.00)	
				5	Sep 2, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user hessec2 overridding Payment Estimate Exception 43 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1380 -	Total						\$0.00	
1390	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		5	Sep 2, 2020	SYSTEM	(\$162.00)	
				5	Sep 2, 2020	SYSTEM	\$162.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user hessec2 overridding Payment Estimate Exception 46 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1390 -	Total						\$0.00	
1400	SHF-FLAT SHEET FLUORESCENT	Material		5	Sep 2, 2020	SYSTEM	(\$618.00)	
				5	Sep 2, 2020	SYSTEM	\$618.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user hessec2 overridding Payment Estimate Exception 48 on the current Payment Estimate.

Revision 4/1/2020 Page 25 of 26



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1400		Material	- Total				\$0.00	
	Material - Total						\$0.00	
1400 -	- Total						\$0.00	
Overa	all - Total				(\$12,501.31)			

Revision 4/1/2020 Page 26 of 26